
SAP ABAP table VIVW06E {VIVW06 extended -> VVIVW06 + VIVW06Z}

VIVW06E

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SVWNR [CHAR (13)]

SHOARTEX [NUMC (2)]

MWSKZ [CHAR (2)]

MWSKZ_VST [CHAR (2)]

T000

MANDT [CLNT (3)] VIVW06E-MANDT = T000-MANDT 
0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)] VIVW06E-BUKRS = T001-BUKRS 0..N

0..N

T007A

MANDT [CLNT (3)]

KALSM [CHAR (6)]

MWSKZ [CHAR (2)]

 VIVW06E-MWSKZ = T007A-MWSKZ 0..N
0..N  VIVW06E-MWSKZ_VST = T007A-MWSKZ 

0..N0..N

TIV92

MANDT [CLNT (3)]

SHOARTEX [NUMC (2)]

 VIVW06E-SHOARTEX = TIV92-SHOARTEX 

0..N

0..N

VIVW01

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SVWNR [CHAR (13)]

 VIVW06E-SVWNR = VIVW01-SVWNR 

0..N

0..N


